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In the Question Booklet:
14. The process by which plants lose water to the atmosphere is called

A. capillanty
B. diffusion

C. transpiration
D. evaporation

The correct answer is C (transpiration)
On the answer sheet:
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In the second set, the box with the letter C printed in it is marked.

1. Your dark line MUST be within the box.
12. For each question ONLY ONE box is to be marked in each set of four boxes.

This question paper consists of 7 printed pages

Candidates should check the question paper to ensure that all
the pages are printed as indicated and no questions are missing
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1. Thefollowingare functionsofthenoscduring | 5.  Which one of the following parts of

Z

breathing EXCEPT

A. absorption of the air.
B. trapping dust.

C. moistening air.

D. warming air.

Cusps and ridges are present in

A. premolars and canines
B. incisors and molars

C. molars and premolars
D. canines and incisors

The diagram below represents a female
reproductive system.

digestive system is CORRECTLY
matched with its function?
Parts Functions

A. Smallintestine  Absortion of
mineral salt.

B. Mouth Produce digestive
juice.

C. Largeintestine  Absorption of
digested food

D. Rectum Store digested
food.

'

The first stage of HIV infection is known as
A. window

yw sélf estcem.
ame in the family.

1 D. School dropout.

T?
A. Egg formation.

B. Attachment of embryo. -
C. Production of sex cells.
D. Fusion of sex cells.

Which one of the following physical changes

take place in the boys ONLY during
adolescence stage?

A. Hips broaden.

B. Production of sperms.

C. Breast appears.

D. Increase in height and weight.
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The following at eﬁb%ts of drug abusc?

(iii) Impaired judgement.
(iv) Drug induced accidents.
(v) Marital conflict.

Which are the social effects of drugs?
A. (1), (i), (i)

B. (i) and (i11)

C. (ii), (iv),(v)

D. (i), (iv), (v)

Vaccines given at 10 weeks protect an infant
against .

A. Diptheria and Polio

B. Tuberculosis and Polio

C. Yellow fever and Measles.

D. Tetanus and Tuberculosis.
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10. Which of the following is the BEST way of
controlling the spread of tuberculosis?
A. Observing proper sanitation.
B. Isolating the sick people.
C. Eating balanced diet.
D. Using preventive drugs.
11. Whichoneofthe following component of soil
improve its water holding capacity?
A. Air
B. Living organism.
C. Humus
D. Mineral particles.

12.

The set up below was used to investigate a
certain property of sml" =2
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Which one of the following is an advantage
of organic manure?
A. Needed in small amount.
B. Improve soil structure.

- C. Contain specific nutrients.
D. Has no weeds.

13.

14.

Which one of the following is a human factor
that increase the rate of soil zrosion?

A. Mining
B. Slope of the land.

C. Type of the soil.
DD. Amount of the rainfall.
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20.

15. Inwhichofthe following activities is
friction NOT required?
A. Skating
B. Writing

C. Swimming
D. Braking

Which of the following factor make a small

piece of wood floats on water?
Mass of material.

Shape of material.

Type of material.

Size of material.

16.
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The MAIN function of mineral salts in the

bo_d); 1S to
23 ma’ke]ilog.

B. prevent dehydration.

C. prevent constipation.
aintain goodhealm

‘l“ ,.-ﬂ'fl_

FOLEW ich _oﬁthefauamnglsum
~“advigabl

g:spraymg
B. Spraymg aga direction of
SRR S . 3
s, Weanng aﬁk when spraying.
T) "Spmym thgtempcratures are
R wecanen s

19. The first step in obtairing sugar from a

mixture of sugar solution and pieces of iron
15

A. filtering

B. picking

C. use of a magnet

D. evaporation.

Substances that have definate volume and

shape are

A. solids and liquids
B. liquids only

C. liquids and gases
D. solids only
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21. The diagram below show a set up thatcan

be used to investigate the effect of heat on
matter.

Balloon

Bottle with air

CORRECT Y gro ped as non magnetlc

and magnetic? F'*

b 0T o pr.'
Non ma _etiﬂ_c__’-"' Magnetlc E

A. Staplepin. ‘f ______ Iron wire,..« J{ |
B. Copperwire - Steelwool- E;”
C.Zine " Wood 7
D. Razor blade Aluminium 1

23. Which one ofthe followingis the usc of gas

that cover approximately 21% of the
environment?

A. Making electric bulb.

B. Breathing.

C. Making food in plant.

D. Fire extinguisher.

24. During a science lesson, pupils collected
small pins and big iron wire and placed them
on the water. Which factor that affect, sinking
and floating were they investigating?

A. Shape of the material.
B. Size of material.
~ C. Mass of material.
D. Type of material.
25,

In the solar system, Mars is found between
A. Earth and Jupiter |

B. Mercury and Neptune

C. Saturn and Neptune

D, Venus and Uranus

26 . Thegloud mmdnkgmymcaluurm
NOT LY. to
A. appear lﬂWll’l.ﬂ‘lﬁSky

; bn;;g_q]'lcavym ifall '
c{eﬁ like bund ﬁs of cotton wool.

T (th"abe ofihed'ollnmng statement is
YUE about weaiher instrument shown

It1is a windvane.

s

[t point the direction the wind is
blowingto.-

C. Measure one aspect of weather.

D. ' only measure the direction of wind.

28. Which one of the following is an animal that

lay fertilized cggs and has a varying body
temperature?

A. Bat

B. Spiny ant eater

C. Snake

D. Dove
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29. Which one of the following method of grazing
is important to the farmer in controlling

<y

f’lhé’f{}l

33. During ascience lesson, pupils pﬁt.a ruler in
a trensparent container with water as shown

parasites? below.

A. Paddocking

B. Hearding

C. Stall feeding

D. Zero grazing Ruler
3(). Which one ofthe following animals is o

CORRECTLY matched by its product?

: aler
Animal Product '
A. Goat ~ Mutton
- B. Sheep - Mohair
C. Cow Eggs
D. Pig Milk o Which property of light were they
B g ramm%

o1 ikt : m{,@,grﬁ-

animal with efiergy C. Howlight travel.

A. Lucemn " i D b ;.15 ¢ ﬂfhg,ht :

B. Fishmeal s 5 B -

C. Desmodiun i | :

,- mrd B(jARD written on it
ACe nt éf amirror. Which one of
the follumng.‘shoﬁs th would appear in

' wing is an effect of |
e an_ P _ﬂ___‘_‘%{.ﬂg‘,m - sthemimor?, = = g
parasites on iy estoc;k" | e AQRAOE & o
A.. R.ObuSt R ol ':ﬁﬁ%‘iﬁ & S —:!:‘“r e sy tﬂf
B. Increasediproduction. . .ccoss. | | “‘%" .

C. Good health. C.dsA0B
D. Irritation. 3 D.BOARD

Which of the following pairs of the processes
require increase in temperature?

A. Condensation and freezing.

B. Melting and expansion.

C. Contraction and condensation.

D. Evaporationand freezing:

Which one of the following DOES NOT

produce electricity?
A. Batteries

B. Bicycle dynamo
B. Solardrier

D. Solar panel

36.
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37. The following materials were used to
investigate a certain property of light.
(i) Water
(ii) Mirror
(iii)Basin
(iv)White manilla paper

Which property of light was being
investigated?

A. Formation of shadow.

B. Making of a rainbow.

C. Reflection of light.

D. How light travels.

38. The diagram below shows a set up to

mvcstlgate good and poor conductor of

o i -.I.':.""T

Which one ﬂ
at point M, Néwill nake the.bulb light?

A. Hair strand"
B. A piece of wood
C. Glass rod :

D. Steel wool

39. Which one of the following are MAJOR

living component?
A. Animal and plants.
B. Sound and building.
C. Airand soil.
D. Animal and air.

40.

Plants that grow in water get oxygen from

the

A. ar
B. water
C. soil
D. plants

i _.fﬁ?‘m%ﬁsh

..
AIWnalm!ac‘

41. A child who feel dizzy and has pale fingernail
should be fed in food rich in
A. protein
B. carbohydrates

C. wron
D. vitamins

42. Whichone of the following statement DOES

NOT describe dietary fibre?

A. Has no nutritional value.

B. Mainly found in vegetables and fruits.
C. Prevent body from dehydration.

D. Helping in emptying bowel.

Which of the following list consist of a
balanced diet?

B. Spmach apﬁlewbeans

Smakmg

(u) Canning
Wlf)'ﬁaf!fﬁ’ga 3
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Which of the methods preserve food by
m:mowng moisture?
A. (i)and (i)

B. (iii)and (v)
C. (ii)and(iv)
D. (iv)and (i)

T

Which one of the following simple tool has

effort between the head and fulcrum.
A. Claw hammer

B. Wheelbarrow

C. Spade

D. Crowbar

45.
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46. The followinng activities arc carried out 49. During a science walk pupils observed a

when making an improvised beam balance plant with thorn on the branches and

but not in the correct order. produced yellow fruits. Which plant had

(i) Fix the stand and the arm to the they observed.?

~ base. A. Thorn apple

(ii) Make a base, a stand and the arm. B. Black jack

(iii)Suspend the arm to find balance C. Sodom apple
point and mark. D. Wandering jew

(iv)Suspend the tins on both sides of the
praling | 50. Which one of the following is a characteristic
_ e ~ofinsect pollinated flower?

Which one of the following is the H A. Large in size.

CORRECT order of the activities? :

A. (iii), (iv), (ii), () g' E,';'" s :
X AN TS . Loosely attached pollen grains.

B. (), (m), (1), (iv) |  D. Feathery long styles.

C. (u1), (11), (iv), (1) EE

D. (1), (i1), (iii), (w) GRS e f -? sl

_____

47. Which one uf‘theﬁbllnwmg activities mlﬁj
lead to the spread of waterborpc_dlsca&ﬂs? 1‘ S

A. Sleeping timderunlrcated mgquntﬁ» 4. f, g
o A *'fj*'* i“““

B. lrregular‘ﬁammalwn f s A ach |

C. Pmrhanc;hngof fpodeatenraw | iy b

D. Draining stagn: ﬁwateraround the - Sud ¥ =

48. Thechart belgw reprcsen_ts,a;s:mple*;z.wﬁ- £ i
classification of plants. - SRS o >
Plants
Green (43 f;Nin-green
. | | |
FlaTenng Non-ﬂTwering = Mould
M N

Which one of the following plants are
correctly represented by M, N and P?
A. Bean, mushroom, bracket tree.
B. Algae, sunflower, greengram.

C. Maize, onions, penicillium.

D. Sisal, moss, yeast.

7 STD 8 001 SCIENCE 2021



